TECH DATA SHEET 10727

16/03/15

(o), WONDER

POWER

WEA skries 1g2)

THREE PHASE HIGH EFFICIENCY
TEFC ALUMINUM
INDUCTION MOTORS

| WONDER |
e L1
NALT S

e

WEA series three phase asynchronous motor is high efficiency motors with
aluminum housing, It is WONDER-designed high efficiency motors with
product features as compact size, |ess weight and outstanding appearance,
Its efficiency indicators are in fine with 1E2.

Characteristics for all WONDER standard 3-Phase asynchronous motors

= Widely applied in general machinery and industries such as pumps & water
treatment, road machinery, petroleum, chemical, metallurgy,

cement and paper-amilling,
= 1P55 protection, Class Finsulation, B Temperature rise, 51 duty,
« Rated voltage 400V, Rated frequency 50Hz.
« Operation conditions: ambient temperature:-207T 40T, altitude=1000rm.
= Y-connection for motors up to 3IkW and S-connection Tor kW and above

« Cooling method is 1c411.

MOUNTING ARRANGEMENTS

Basic lype

Voes e R e e
ype aFea R et n Derived iypes of construction
i\ B Vs 4 Vi " Bb 14 87 1iEa
1% 1000 RTI 13 1031 14 1081 14 1001 TR
- i 3 1 - .
WEABD-180 || ‘B REE m- [ =
- —t = d | ! s S '__-_
B VI 144 V3 . , .
him R sk %4 Fo Ty (Lt ] [RTE (A1 W)
’ - | —
wew ] O [ B O OF
B : : . : .
§4 2101 W wam LY I 2180 I5 271
WEARD- 180 - — - — -
10 o O =l [= Lk
B v I e
(LURTTR] “ﬂll |'l-'||‘JI'H
- | |
WEABD-180 - I || i ] li—l
e v s vin
WEABO-180 ™ 1807 T n;.lsau
i-_ — =I
1 o

basic types of construction may be used inall derived types of constructon
(*inot-defined mounting by |EC 60034-7
1} for the types of construction 1M V6, 1M B6, 1M B8 inguiry is necessary,



(e), WONDER

POWER

WEA HIGH EFFICIENCY ALUMINIUM MOTORS
TECHNICAL SPECIFICATIONS IE2

Outpul 1EC Rated Full Efficiency Power Taclor locked Locked  Break Sound Moment  Weight
frame speed load n% OS5 rotar rotor dowon Lp of
current Iner i (k)

% Of full load currenl lorgue  lorgue dB{A) Jikgm')

LA :
il I/l LITAIT Th/Th
{rpm)  ADDV 100

3000 min'(2poles) 50Hz

0.75 1 80M1 2840 1.78 781 780 76.7 0.78 0.69 057 6.5 3.6 4.0 60 0.00092 ]
1.1 1.5 BOM2 2930 248 8.0 B0B 70.3 0.79 0.72 0.68 6.0 3.7 19 60 0,001 n
Bag oo 905 2890 3.00 821 8.8 R1.O 0B 0.83 0.75 6.6 21 2.9 60 0,002 14
2.2 13 0L 2890 4.24 842 B4.7 B34 089 0.86 0.79 7.0 2.3 24 59 0,003 16
1 4 100L 2915 563 B5.4 860 B5.0 090 O0.84 0.75 0.6 J 4.0 63 0.004 3|
4 55 112M 2895 752 86,3 870 BA.O 0.B9 085 0.78 6.9 2.3 1.0 63 0.013 26
55 7.5 13251 2930 10.2 475 876 B6.0 0.B9 0.85 0.77 8.2 2.2 3.5 68 0.023 7
7.5 10 13252 29130 1.8 88,4 BB.B 876 0.B9 087 0.8 8.1 2.1 3.4 68 0,025 4
9.2 125 132M 2930 167 B9.6 89.6 89 0.B9 0.87 0.81 82 2.4 1.4 [ 0,035 42
1M 15 160MT 2940 19.6 899 89,7 B8 0.90 087 0.80 7.9 2.6 1,5 £l 0,055 99
15 20 1hoM2 2040 265 90.7 90.7 B9.5 0.90 0.88 0.81 8.1 2.8 3.5 GR 0.064 85
185 25 1600 2940 32,2 91,2 91.2 901 0.91 0.89 0.84 7.8 2.7 1.1 68 0,073 as
2230 180M 2050 380 91.5 91.2 A9.6 0.91 0.B8 0.82 8.0 2.4 1.6 68 0.103 13
1500 min'(4 poles) 50Hz
0.55 0.75 BOM1 1365 141 770 76.5 733 073 0.66 0.52 2.8 2. 2.4 46 0.0035 n
0.75 1 BOMZ 1390 1.81  79.6 7RG 774 0.75 0.69 056 4.7 2.5 27 47 0.004 12
1.1 1.5 a0s 1435 253 81.4 81.3 802 0.77 0.71 0.59 5.4 21 2.6 449 0,005 15
.5 2 a0| 1430 331 828 824 B9 0.79 077 0.66 5.4 2.1 25 51 0,006 18
22 3 10001 1440 465 84.3 B4.4 B3.2 0.81 0.75 0.64 6.8 3.0 1.2 LY 0.007 23
3 4 10012 1430 6.25 855 855 850 0.81 0.75 0.65 .5 2.0 2.0 51 0009 27
4 55 112ZM 1445 819 870 868 B5.8 0.81 0,75 0.70 7 2.7 2.8 55 0.017 1
5.5 75 1328 1460 110 &8 876 872 0.82 077 0.68 7.3 2.4 29 55 0,037 45
5 10 132M 1460 14.7 89.0 88.7 881 0.8 0.79 0.70 75 2.6 2B 55 0,045 58
9.2 12.5 160M 1460 178 90.0 90.0 B9.4 0.3 0.80 0.72 7.6 2.5 2.8 55 0.075 50
m 15 160M 1470 20,7 90.3 90,2 90.0 0.85 O0.81 0.73 78 2.6 31 63 0,105 95
15 20 160L 1470 277 91.0 90.7 90.4 0.86 0.82 0.75 7.4 2.5 2.8 61 0.112 10
185 25  180M 1470 340 91,3 91.0 909 0.86 084 078 74 2.4 1.2 62 0.166 145
22 30 180L 1470 40.2 9.8 91,9 91.2 0.B6 082 0.72 8.0 2.8 1.4 62 0.186 160
1000 min'(6 poles) 50Hz
0.37 05 BOM1 915 1.09 70.9 69.4 GE.E 0.69 061 0.51 3.8 2.1 2.2 44 0,001 n
0.55 075 BOMZ 925 1.55 741 72.8 68.7 0.69 060 0.52 4.4 P | 23 46 0.0032 14
0.7% 1 905 945 203 76.0 755 738 0.70 0.62 0.50 38 1.6 2.2 45 0,004 13
) a0l 945 290 783 775 759 070 0.63 0.51 4.0 i 22 45 0,005 15
.5 2 100L 930 3.82 798 781 FTE 0.7 0.64 D55 1.6 1.6 21 47 0.008 20
2.2 3 112M 930 5.39 81.8 8.7 804 0.72 0.70 0.60 4.9 2.0 2.3 46 0.013 24
3 4 1328 970 693 833 83.2 B2.2 075 0.71 0.56 6.8 2.7 1.0 511 0,003 12
55 132M1 970 886 84.6 B4 B36 077 0.70 058 71 2.8 3.0 50 0.04 42
55 75 132M2 970 1.8 86,0 86.0 BS54 0.78 071 0.60 7.6 1.1 3.1 53 0.05 50
7.5 10 160M 970 161 874 BTN B5.8 077 0.74 0.63 6.2 2.5 2.6 55 012 75
9.2 12.5 160l 970  19.5 B4.5 88.2 86 0.77 0.74 0.62 6.2 2.2 27 57 0.15 a0
n s 160L 970 22,9 889 BB.5 876 078 0.74 063 6.4 2.7 2.6 57 0.23 95
15 20 180L 980  29.7 89.9 900 BA.S 0.81 0.74 0.62 7.6 2.8 1.1 57 0.34 130
750 min'(8 poles) 50Hz
0.7 0.5 905 G0 1,30 0.8 6B.9 66,7 0.58 0.5% 0.48 16 2.3 29 46 0.0046 n
0.55 0.75  90L 695 1.89 T71.3 69.5 678 0.59 0.54 0.50 3.6 2.3 2.8 45 0.0052 14
0.75 1 0001 700 242 7RI 721 L7 061 0.57 0531 4.3 2.6 2.6 a7 0.0073 19
11 1.5 10012 700 3.39 755 751 M6 0.62 058 057 4.2 2.8 29 47 0.022 24
15 2 112 700 424 773 770 753 0.66 0.62 0.58 3.7 2.0 24 49 0.028 33
22 3 1328 7100 590 80,3 BO.0 79.5 0.67 D063 D60 4.5 2.0 2.6 50 0.04 45
3 4 132M 715 778 819 B1.6 BD.B 0,68 0.66 0.64 4.8 2.2 Ty 50 0.05 52
55 160M1 715 955 828 826 B1.6 073 0.71 0.67 4.6 1.9 25 53 0.09 a0
55 75 160M2 720 127 845 84,3 B2.3 0.74 0.70 0.68 4.8 1.9 2.5 53 010 100
75 10 1601 7200 170 86.0 861 B5.2 0.74 071 0.67 5.4 2.3 27 50 0.11 115
9.2 12.5 THOM 720 2006 872 870 861 0.74 0.72 0.69 5.7 2.3 26 55 018 150
m 15 1801 725 245 877 875 Bo.B 0.7 0.72 0.70 5.9 2.3 2.7 55 0.22 170

High efficiency motors IECA0034-30,1E2 code



(e), WONDER

POWER

MOUNTING AND OVERALL DIMENSIONS

B3 Fiendy ﬁ Al
F =77 I
L

Bs ——r .!Z..

== S |
. KK
B35 B Ll
A L T
| ke
e T Su=ue
1}%} o || i 4
o H | 3 .
. ‘ | B |

Mounlting dimensions{mim) Overall dimensionsimm)
G H K KK ‘ P ¢ S 1 B Al AD HD

Frame size

BOM 125 62.5 100 50 19 Mox16 40 6 155 80 4-470 M20x1.5 165 130 200 O 4-412 3.5 165 160 150 230 115
905 1400 70 10056 24 M8x20 50 8 20 90 4410 MIZ5x1.5 165 130 200 0 4-412 3.5 190 185 160 250 320
900 140 70 12556 24 M8x20 50 & 20 90 A-470 M25x1.5 165 130 200 0 4-412 3.5 190 185 160 250 3135
100L 160 B0 140 63 28 M10x22 60 & 24 100 4-412 M25x1.5 215 180 250 0 4-415 4 210 205 175 275 390
1128 190 95 140 70 28 MI0x22 60 & 24 112 4-472 M25x1.5 2115 180 250 O 4-415 4 240 230 185 300 400
1325 216 108 140 89 38 M12x28 80 10 33 132 4-412 M3I2x1.5 265 230 300 0 4-415 4 275 265 200 345 445
132M 216 108 178 89 38 MI2x28 80 10 33 132 4-472 MI2x1.5 265 230 300 O 4-415 4 275 265 200 345 485
160M 254 127 21010842 MI6x36 110 12 37 160 4-415 M40x1,5 300 250 350 0 4-$19 5 315 315 245 405 615
1601 254 127 25410842 MI6x36 110 12 37 160 4-415 M4A0x1.5 300 250 350 0 4-479 5 315 315 245 405 660
180M 27913951 1171 48 M16x36 110 14 425 180 4-415 M40x1.5300 250 350 0 4-419 5 350 355 265 445 690
180L ATH139.5279111 48 M16x36 110 14 425 180 4-4h15 MAOx1.5 300 250 350 0 4-419 5 350 355 265 445 7i0



(e), WONDER

POWER

MOUNTING AND OVERALL DIMENSIONS

Mounting dimensionstmm )} Owerall dimensionsimen)

Frame size
AL AD HD

BOM 125 62.5100 50 19 Mox16 40 6 155 80 4-¢10 M20x1.5 100 80 120 O 4-M6 3 165 160 150 230 315
905 140 70 100 56 M MBx2050 & 20 90 4-h10 M25x1.5 115 95 140 0 4-M8 3 190 185 160 250 320
900 140 70 125 56 M MEx2050 & 20 90 4-010 M25x1.5 115 95 140 0 4-M8 3 190 185 160 250 3315
1001 160 B0 140 63 28 MI0x2260 & 24 100 4-b12 M25x1.5 130 110 160 0 4-M8 3.5 210 205 175 275 190
1nzmM 190 95 140 70 28 MI0x2260 & 24 112 4-012 M25x1.5 130 170 160 O 4-M8 3.5 240 230 185 300 400
1325 216 108 140 B9 38 MI2xZEE0 10 33 132 4012 MIX5 165 130 200 O 4-MI0 4 275 265 200 345 445
1]

13280 216 108 178 89 I8 MI12x2880 10 33 132 4-412 M3I2x15 165 130 200 4-M10 4 275 265 200 345 485



VIBRATION

MOTOR SPARE PART LIST/DRAWING

specd

1fmin

G00-3600
600-3600

1.Washer

2. Mouting studs screws

1.Endshield B3

4.5crews Tor fixing terminal boxicover)IP55
5. Terminal box cover

6. Terminal seal Ip55

7.5crews for fixing terminal box{base ) IP55
8. Terminal box base

9. Terminal seal IP55

10.Terminal board complete with components
11, Wound stator

12, 5crews for fixing removable feet

13. Removable feet

14.Cable gland

(e), WONDER

POWER

vibiration
mim/s

0.
1.12

24

15. Frame

16.Mame plate
17.5pring washer
18.Bearing(DE)

19, Rotor with shaft
20.Bearing (NDE)
21.Washer

22 Mounting studs screws
23.NDE shield
24.Fan cover
25.Fan

26.0ilseal
27.Circlip



(o), WONDER

POWER

BEARINGS

Frame
sire

Driving End Non-driving End

a0 6204-22/C3 6203-22/C3
90 6205-221C3 6204-22/C3
100 6306-22/C3 6205 22/C3
12 6306-22/C3 6205-22(C3
132 6208-22/C3 6206-22/C3
160 6209-22/C3 6209-22/C3
180-2F 621/C3 6211/C3

180-4-9p 6311/C3 G211/C3



